
REUZEGOM
Jef TINEL (1885 - 1972)Stapmars voor harmonieorkest (15/11/1931)

Kleine fluit

Grote fluit

Hobo

Kleine klarinet

Klarinet 1

Klarinet 2 en 3

Sopraansax

Altsax

Tenorsax

Baritonsax

Piston 1 en 2

Trompet 1 en 2

Hoorns in mi b

Bazuin 1

Bazuin 2 en 3

Kleine bugel

Bugel 1 en 2

Alto 1 en 2

Bariton 1 en 2

Tuba 1 en 2

Bombardon in mi b

Bombardon in si b

Kleine trom

Grote trom

Cimbalen
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     


 


 

 


         
  


 

 


     





 

  


 
       


  


 

   

      

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
 
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   
 

 
     

 
         

  
    

 
 

 
 

     
 

 

  

   
 

 
 


 


 
 

 

 

 


 

 


 

 


 

 


 

 

 
 


 


 
 

 

 




     

 
                                            








































































   

 
     

 
 

 
 

 
 

 
 

 
     

 
     

 
   

 




 


 
 


         

  


 
 


     


   




 







 









 

 


 

 




 



     





    





 




   






 

 


 




     

 
                                            

     
 

 
  



 

 
        


 






 

     


  
 

  





 







 








      

   

 
   


     

 

 



         




 

 

   
 




 







 






            


                  





            


  


                                                   

                                                   

            

            
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   
(2)

 
  


 


 


 


 


 


         


 


     


 (2)



 
   

 
   


 


 


 


 


 


         


 


     


 

       
     


 


 


 


 


                   




     


     


   


                    



     


 


 


 


 


 


 


                   


     


                


     


 


 


 


 


 


 


                   


      

                 


     

                  


           

                 




       

  


                               




 

 


 

 


 


  

 


 
 


       

  
   

  
  

   



           

                 














 


               




   

 
 

  
               

 




     


     


   


                    





 

       


                               


           

                  






 

 




 


 


 
                 
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